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6. B (a) For cyclic quadrilateral ABCD as shown, what is the
relationship between angles:
c (i) BCDand BAD Sugf’
(i) BAE and BAD s«{p
- (iii) BCD and BAE? ¢ ,,;\5.
(b) Should a similar result to (iii) hold for any exterior angle
D of any cyclic quadrilateral? Ve s

2

£ A (c) Copy and complete. “An exterior angle of a cyclic_
quadrilateral is congruent to et cOf- " .

7. Find the values of the unknowns in each of the following:

(@) (b)

8. Chords XY and TQ of a circle centre O intersect at M with sZTQY = 75° and
sZTMX = 40°. Find:
(@) s«MYQ , .~ (b) s£XTM (c) s£TOY .
LS ¢ ¢ > > (&
9. Adcircle centre O contains points D and E in the major arc CF and M in the minor arc CF.
Given sZCMF = 110°, find:
(@) s«CDF (b) s«CEF (c) s£COF
10. GK is a diameter of a circlecentre L and MN is a non-intersecting chord. If sZGLN = 130°,
calculate szKMN. (Hint: There are two possible solutions to this problem.)

iy ‘g { 5/ 5\

QO ¢ ¢
ey R

‘\\ //’ ~—
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7 ( —\ ) & ( - 4 A A
Ly X N\ /1 15
LY \\ > G \ \/ 4
N —— 3 "»\ P



EXERCISE 2.2 ) o Xy

Assume in the following exercises that a line which appears to be a tangent is a tangent,
and that a bold dot indicates the centre of the circle.

1. Name the angle in the alternative segment to each of the
following:

(@ «BDP/ZBcv (b) £QDB L BAD>
( 2£CDQ/c8P (d) ZADP LAED

2 Find the value of the unknown in each of the following.

(@) (b) ()
qo
76° 84°

W

- § &
3. (a) Draw a cyclic quadrilateral ABCD within a circle with a tangent PQ intersecting the
circle at A, forming acute angles PAB and QAD. P
(b) Name the two segments determined by diagonal AC. P8¢ ¢ - A Q% PO
(c) Name the segment which is alternate to (i) ZCAQ (i) ZCAP. i) A8C / 'J"_) ol
(d) State an angle which is congruent to (i) £ZCAQ (i) £LADC. \) L ABC i) &N
. .
4. v Givens£ZYZN = 62°, s/XZW = 24° and s£ZXZY = s/ZMZW,
find:
(@) s£XZY &7 (b) s£XzM 71 (o) szxyz 1!
W (d) s£WXZ (3 (e) s«XWZ |54
M 74 N
5. Find the value of the unknowns in each of the following
e b

= 672

tO
\p
u’ J =

&J':}‘T"-( o
nm = gb L\ o 3(.

6. Prove s/ZYXZ = 90°. Q

7. Use the angle in the alternate segment property to prove that the angle in a semi-circle is
a right angle.

o
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